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SO{RIX AN H Y ER (2 F) 8,750 7,692 1,058
2 7,000
Al 1,750
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Afa X

SNBSS - MEAY - BES
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J2
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B
2
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301 et

HI
oy

8,750

7,000
1,750

12 JIEt

8,750,000&

= W

8,750
8,750

7,000
1,750

1,058

= N W

843,758
402,560
131,225
309,973

843,758

307 2120l A

= Hn W

843,758
402,560
131,225
309,973

843,758

02 BltAAEX
= 5| od
-/ =

=4 2gH 22X

843,758,000&

= HnH

843,758

843,758
402,560
131,225
309,973

843,758

ASI DY S AFHHEHl XA (EX)

= HnH

228,750
183,000
13,725
32,025

228,750

()
U

307 Ol &

[
:

= H W

228,750
183,000
13,725
32,025

228,750

02

o
S
oy
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H
QR K

O
>
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N

AFSIOHE ] XT3 A

228,750,000&

= HnH

228,750

228,750
183,000
13,725
32,025

228,750

= H

340,000

104,000
236,000

340,000

307 2120l A

=z H

340,000

104,000
236,000

340,000

02

o
=
oY
0
R H
SI

O
02t
s
0zt

SHH 2EX

340,000,000&

=

340,000

340,000

104,000
236,000

340,000

HHARNZHH 2L NJ(Ex)

= H

166,000

50,000
116,000

166,000
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M -3 - SHA(SAH) - MEAY -
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i
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R
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307 2I2tol &

= M

166,000

50,000
116,000

166,000,000

= H

166,000

166,000

50,000
116,000

166,000

NEZsHLRe(EX)

= N W

—_

,401,458
,087,928

603,457

, 710,073

3,401,458

101 Q12|

= Hn W

, 162,502

756,876
421,688
983,938

2,162,502

04 JIZtHZZ2NSES
OXNgEssH LAt
|

_o|leo
!

=
=

1,820,289,000&

191,130,000
131,060,000
20,023,000&

=z HnH

, 162,502
, 162,502
,820,289

756,876
421,688
641,725
191,130
131,060

20,023

2,162,502

= Hn N

38,040
13,314

7,418
17,308

38,040

NEN L AHEAN R0

-ASSSHAE JlEt =S8l

7,300& «200F *23]

-MEN L ASHA 2508 x45+2,000F *22]

3,000,000&

= H W = HH = N W

= H W

38,040
21,520

11,600
4,060
2,262
5,278
2,920
1,022

570
1,328
4,000
1,400

780
1,820
3,000
1,050

585
1,365

38,040




FA BHSH
HH: 224 =X SH(MI=EN/=S)

Sl AATHE KR (s &)
_ _ _ N E
SNBSS - HRAY - BHES 0 & o4 o HIRZE2
03.2¥+Y 1,680
“NABESH =X FHALY
70,0008 %128 x23| 1,680
=2 588
= 328
Al 764
O5.2 | 14,840
-NABSHAYEE 0RI22X 24 14,840
2y 7,0002 x4 %202 123 6,720
=2 2,352
= 1,311
Al 3,057
sois 7,00021 +292 x5 x83] 8,120
= 2,842
= 1,582
Al 3,696
202 04t 8,480 0 8,480
= 2,968
= 1,654
Al 3,858
01 2Uoibl 8,480 0 8,480
ONATEMAY SHHZ ofb]
20, 00021 #4272 103l 5,600
= 1,960
= 1,002
Al 2,548
ONYZSHAY 50 L DSEA Ot
60,0002 *4% *32! 43| 2,880
= 1,008
= 562
Al 1,310
206 2| 964,436 0 964,436
= 234,970
= 128,237
Al 601,229
01 HEH| 964,436 0 964,436
ONABSHAY MHEH] 664,436,002 664,436
= 161,458
= 87,706
Al 415,272
ONAZESHAIY RRIAS THRHI
300,000,000 300,000
= 73,512
= 40,531
Al 185,957
307 2120l H 228,000 0 228,000
=2 79,800
= 44,460
Al 103,740




SN

ZH<-sH

Y 22X =X SHEME=EX/ES)
el AN X9 (el @g
SN HB G (BH) - MRAY - BES B Hlm= 2
Oil &k o8
02 2ItBAE X 228,000 0 228,000
OXed NESSHAYE 76,000,000 *304 2 228,000
= 79,800
& 44,460
Al 103,740
HY2AHU (FAM =) (IIEH/IIE 70,405 112,250 A41,845
Jl2ZH(Z2H s 70,405 112,250 A41,845
M2 11,305 14,490 A3,185
201 LBt 3| 11,305 14,490 A3,185
01 AtE22|Hl 10,825 14,010 23,185
OFA2ZE Lot 3,700,000& 3,700
ORMN2E d&A2FH| 3,750,000& 3,750
ORAN2Z ==l 3,375,000& 3,375
02 =234l 480 480 0
ORN2E E3e= 480,000& 480
HE=&NHI 52,800 89,760 A 36,960
202 O4H| 52,800 89,760 A 36,960
01 =LA b 52,800 89,760 236,960
OFQIRFANH 20,0008 +20F 11 *12& 52,800
HRF&l 6,300 7,500 A 1,200
203 HRF&H| 6,300 7,500 A 1,200
01 JI22IHSF=&H| 3,300 3,300 0
OJI#2F YR = 3,300,000& 3,300
04 EA2IZRFEHI 3,000 4,200 A 1,200
ORN2YALEFY (HR:15%)
250,000& = 12& 3,000
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